Math 131, Fall 2016
Quiz 7, November 10, 2016
For all 8 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might

contain unevaluated expressions like 6]?“72.

1. Here is the graph of a derivative, f'(x), where f has domain ( — 2, 2).
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On what open intervals is f increasing or decreasing?
Where do local maxima and minima of f occur (if any)?

2. For f(z) = 3z° + 10z : find the open intervals where f is concave up or down, and
locate the inflection points (if any).
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Math 131, Fall 2016
Quiz 7, November 10, 2016
For all 9 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might
In7

contain unevaluated expressions like ;1.5

1. Here is the graph of a second derivative, f”(z), where f has domain ( — 2, 3).

On what open intervals is f concave up or concave down?
Where does f have inflection points (if any)?

2. Suppose f(z) has domain [%, 3] and f'(z) = (z — 2)%sinz.
On what open intervals is f increasing and decreasing and where are the local maxima

and local minima if f (if any)?
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Math 131, Fall 2016
Quiz 7, November 10, 2016
For all 10 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might
In7

contain unevaluated expressions like g1

1. Here is the graph of a second derivative, f(x), where f has domain ( — 2, 2).
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On what open intervals is f concave up or concave down? Where are the inflection
points of f (if any)?

2. Suppose f'(z) = (z—1)(z + 2)e™™.

What are the intervals on which f is increasing or decreasing, and where are the local
maxima or minima of f (if any)?
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Math 131, Fall 2016
Quiz 7, November 10, 2016
For all 11 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might

contain unevaluated expressions like 6’;‘“72.

1. Here is the graph of a second derivative, f”(z), where f has domain ( — 3, 3).
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On what open intervals is f concave up or concave down?
Where does f have inflection points (if any)?

2. Suppose f'(z) = (z—1)*(z + 2)e~=.

What are the open intervals on which f is increasing or decreasing and where are the
local maxima or minima located (if any)?
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Math 131, Fall 2016
Quiz 7, November 10, 2016
For all 12 p.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might

contain unevaluated expressions like g‘l‘n’2.

1. Here is the graph of a second derivative, f”'(z), where f has domain ( — 2, 2).
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Where do local maxima and minima of f occur (if any)?
Where does f have inflection points (if any)?

2.1f f'(z) = 3z* + 8z, then locate the open intervals on which £ is concave up or
concave down, and locate the inflection points of f (if any). -
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